CaamMpPIoN

Mﬂl’llOCTpVIpOBaHHbIH KaTanor 3anacHbIX YacTem

Mogenb: 125T

Power & force

32

Ne ApTUKYA HaumeHoBaHme K-Bo Ne ApPTUKYAN HaumeHoBaHMe K-Bo
1 YD2500-92102 Falika KpenneHna maxosuka M8x1 1 17 YD2500-14000 KoneHsan+nopueHb KOMNAEKT 1
2 YD2500-15110 MaxoBuk 1 18 GC3053-11506 MpocTaBKa KPbILWKKN LUAMHAPA 1
3 YD2500-94601 LLInoHKa maxoBuKa 1 19 YD25002-11507 duKcaTop uMAnHApPa 1
4 YD2500-95011 CanbHUK KoneHBana 12x22x5 1 20 YD18002-15206 MpoknagKka marHeTo 2
5 YD2500-96011 NoawunnHuK KoneHsana 6001 2 21 YD2500-26110 Marneto 1
6 YD2500-95012 CanbHUK KoneHBana 12x28x6 1 22 YD2500-26151 MpoBOA, BbIKAOYEHUA 3aXKUTAHUA 1
7 YD2500-90121 Bont M5x20 4 23 YD2500-97001 Bont M4x20 2
8 YD25002-13109 MoapoH umnuHapa 1 24 L8RTF CBeya 3aXkuraHus 1
9 YD2500-14100 Konexsan 1 25 YD25002-12111 Lnnunap 1
10 YD2500-14803 LWar6a nanbua 2 26 YD25002-16001 MNpoknagka nog, KoneHo KapblopaTopa 1
11 YD2500-96111 MoaWwnnHUK nanbua 1 27 YD2500-16111 KoneHo kap6iopatopa 1
12 080602040100 MopweHb 1 28 YD2500-90201 Bont M4x14 2
13 YD2500-14002 Konbuo ctonopHoe nanbua 2 29 YD2500-21001 Mpoknagka raywuTtens 1
14 YD2500-14001 Manew, nopwHA 1 30 YD2500-21110 nywwurens 1
15 YD2500-14311 KonbLo noplwHesoe 1 31 YD25002A-21113 Mpoknagka 60nTOB raylwmnTENs 1
16 | YD2500-14211 MopLweHb KoMmnaekT 1 32 YD2500-90027 Bont M5x40 2




CaamMpPIoN
Power & force

Mﬂl’llOCTpVIpOBaHHbIH KaTanor 3anacHbIX YacTem

Mogenb: 125T

Ne ApTukyn HaumeHoBaHue K-Bo Ne ApTuKkyn HanmeHoBaHue K-Bo
1 YD25002-13901 Kaptep 1 17 YD2500-26155 MpoBog, BbIKAKOYEHUA 3aXKUTaHUA 1
2 YD25002-91201 Bont M5x20 5 18 YD2500-18431 LWnaHr npaiimepa 1
3 YD2500-27119 LLlainba amopTm3aTopa 6x20x3 2 19 YD2500-17125 MNepexoaHUK TONNMBHbIX LWAAHIOB 1
4 YD2500-27111 AmopTun3aTtop 1 20 YD2500-27401 MpoKknaaKa KpbILWKK KapTepa 1
5 YD2500-91333 BuHT 4,8x16 1 21 YD25002-27331 KpbllWwKa KapTepa BepxHAA 1
6 YD2500-27112 3arnywka amopTtusaTtopa 1 22 YD2500-18100 LLINaHr TONAUBHBIA KOMNIEKT 1
7 YD2500-27431 Ckoba ana KpenaeHus pemHn 1 23 YD2500-18101 LLinaHr TonAUBHBbIN 1
8 YD2500-91324 BuHT 4,2x13 3 24 YD2500-18104 YnnoTHeHWe TONIMBHOIO LWNAHTa 1
9 YD2500-17131 KnanaH canyHa macnaHoro 6aka 1 25 YD4500-18102 XomyT wnaHra 1
10 YD2500-17133 3arnyweka KnanaHa 1 26 YD2500-18103 DUNbTP TONAUBHBIN 1
11 YD2500-17132 KonbLo cTonopHoe 3arnyLwKku 1 27 YD3800-18010 CanyH TonaneHoro 6aka 1
12 YD2500-13001 Ynosutenb uenu 1 28 YD2500-18011 LWnaHr canyHa 1
13 YD2500-27116 bonTt KpenneHua ynosutena uenu 1 29 YD2500-18030 Mpobka TonamMeHoOro H6aka 1
14 YD25002-91201 Bont M5x20 2 30 YD2500-19230 Mpobka macnaHoro 6aka 1
15 YD2500-17009 BOKOBOW NUCT Ha KapTep 1 31 YD2500-18410 Mpaiimep 1
16 | YD2500-91201 BuHT 4,2x12 1 32




CaamMpPIoN

Power & force

Mﬂl’llOCTpVIpOBaHHbIH KaTanor 3anacHbIX YacTem

Mogenb: 125T

Ne ApPTURYN HaumeHoBaHue K-Bo Ne ApPTUKYAN HaumeHoBaHMe K-Bo
1 YD3800-16302A [aiiKa KpblLLKK BO3AYWHOro GpunbTpa 1 15 YD6200-93013 Llan6a 5x15x1,5 1
2 YD25002-16204 KpbiwKa Bo3aywHoro ¢unbtpa 1 16 YD2500-24406 3arnyuwka 1
3 YD2500-16213 duUnbTP BO3AYLIHbIN KAaNPOH 1 17 YD2500-26190 BbikntoyaTenb 3axkuraHua 1
4 YD2500-16307 ®unbTp BO3AYLIHBIN NOPOSIOH 1 18 YD3800-24212 Mpy*MHa KypKa rasa 1
5 YD2500-16204 KpblwKa Bo3aywHoro punbrpa 1 19 YD25002-24211 Kypok rasa 1
BHYTPEHHAA
6 YD2500-90028 BonT KpenneHua kapbiopaTopa 1 20 YD25002-24214 MNpepoxpaHntenb KypKa rasa 1
M5x45
7 YD2500-16201 Onopa Bo3ayLWHoro ¢puabTpa 1 21 YD25002-24001 Tara rasa 1
8 YD2500-24111 Pblyar BO3AyLLIHOW 3aCNOHKMN 1 22 YD25002-24441 HaknafKa BepxHel pyKOATKM 1
9 YD2500-24112 YnnoTHeHue pblyara 1 23 GC305-91328 BuHT 4,2x16 1
10 YD2500-18200 Kapb6topaTop 1 24 YD2500-27112 3arnywka amopTtusaTtopa 1
11 YD25002-24401 PykoaTKa BepxHAs 1 25 YD2500-90226 Bont M5x45 1
12 YD2500-18236 LLinaHr kapbtopaTopa 2 26 YD2500-27111 AmopTunsatop 1
13 YD2500-24213 LTndT KypKa rasa 1 27 YD2500-91221 BuHT 4,8x14 2
14 | YD2500-92201 laiika M5 1 28 YD25002-13002 Ynop 3ybuatbiii 1




CaamMpPIoN
Power & force

Mogenb: 125T

Mﬂl’IIOCTpVIpOBaHHbIﬁ KaTanor 3anacHbIX YacTem

Ne ApTUKYA HaumeHoBaHMe K-Bo Ne ApPTUKYAN HaumeHoBaHMe K-Bo
1 YD2500-20901A BosayxoBog, 1 13 YD2500-25313 MpyKnHa pyykmM cTapTepa 1
2 YD2500-91321 BWHT 4,2x8,5 1 14 YD2500-25318 LWainba 1
3 YD25002-15120 [ednektop Bo3ayxoBoAa 1 15 YD2500-25302 Hanpasnawouan WHypa ctaptepa 1
4 YD25002A-25000 Craprtep B c6ope 1 16 GC305-91328 BuHT 4,2x16 5
5 YD25002A-25110 KpblwKa cTapTepa 1 17 YD2500-91311 BuHT 3,510 1
6 YD2500-25212 MpyknHa cTapTepa Bo3BpaTHaA 1 18 YD2500-93001 LWai6a 4 1
7 YD2500-25211 BapabaH cTapTtepa 1 19 YD2500-27216 OrpaHununTenb, amopTusatopa 1
8 YD6200-93013 Lan6a 5x15x1,5 1 20 YD2500-27111 AmopTunsatop 1
9 YD2500-91332 BuHT 4,8x16 1 21 YD2500-91333 BuHT 4,8x16 3
10 YD2500-25301 LLIHyp cTapTepa 1 22 YD2500-27112 3arnywka amopTtusaTtopa 1
11 YD4500-25311 Pyuka cTapTtepa 1 23 YD25002-24500 PykosTKa 6oKoBas 1
12 YD2500-25312 BTy/nKa NpyXuHbI 2 24 YD4100-93023 Lariba 2




CaamMpPIoN
Power & force

Mﬂl’IIOCTpVIpOBaHHbIﬁ KaTanor 3anacHbIX YacTem

Mogenb: 125T

14
Ne ApTUKYN HaumeHosaHmne K-80 Ne ApPTUKYAN HanmeHosaHue K-80
1 YD2500-22110 CuenneHne KOMNAEKT 1 9 YD2500-17301 KpblwWwKa macnoHacoca 1
2 YD2500-22113 Mpy*nHa cuennexmna 2 10 YD2500-90201 bont 4x14 2
3 YD2500-22101 LWaiba cuenneHuns 1 11 YD3800-17200 MacnoHacoc 1
4 YD2500-22121 BbapabaH cuennexus 3/8 6Z 1 12 YD2500-17003 LLInaHr macnAHbIA HAaNOPHbI 1
5 YD2500-96112 MoawunHuk 6apabaHa cuenneHus 1 13 YD2500-17303 MbINbHUK MacnoHacoca 1
10x13x13

6 YD3800-17001 YepBaK NnpuMBOAA MacnoHacoca 1 14 YD2500-17128 LLInaHr MacnsHbI BcacbiBatoLWMiA 1
7 YD3800-17208 Llar6a yepssaka 10x18x1 1 15 YD4500-17124 DUNbTP MacNAHbIN 1
8 YD2500-91324 BuHT 4,2x13 2 16




CaamMpPIoN

Power & force

Mﬂl’llOCTpVIpOBaHHbIH KaTanor 3anacHbIX YacTem

Mogenb: 125T

Ne ApTVKYN HaumeHoBaHMe K-Bo Ne ApTVKYN HaumeHoBaHMe K-Bo
1 YD25002-23000 KpblwKa wuHbl B cbope 1 17 YD2500-22212 Manew, HaTAXKeHUA Lenu 1
2 YD3800-23122 Haknagka py4ykun Topmosa 1 18 YD25002-22251 JNncT 6okoBoi 1
3 YD3800-23123 MpyXXnUHa HaKknagKku 1 19 YD25002-23108 KpbllKa TOPMO3HOro mexaHu3ma 1
4 YD25002-23011 Pyuyka Topmosa 1 20 YD2500-91321 BuHT 4,2%8,5 5
5 YD2500-92201 laitka M5 2 21 YD3800-23200 Pblyar TOpMO3HOro MexaH1M3ma 1
6 YD2500-23031 MpyKnHa pyykn Topmosa 1 22 YD2500-94013 WTnoT 3x14 1
7 YD2500-93012 LWaiba 1 23 YD2500-23110 Ynpasnawwmii cTepeHb 1
8 YD25002-23016 bonT KpenneHuna py4ykn Topmosa 1 24 YD2500-94107 WtndT 3x8 1
9 YD2500-91301 Bont M5x30 1 25 YD25002-23312 LLlaiba npyXuHbl 1
10 YD2500-23033 BTynka 6onTa 1 26 YD3800-23113 Mpy*nMHa TOopMoO3a OCHOBHanA 1
11 YD3800-23121 BTynka Haknagaku 1 27 YD25002-23111 JleHTa Topmo3sa 1
12 YD2500-23012 LWai6a npyuHbl 1 28 YD25002A-21113 KpblWwKa raywntens sawmntHas 1
13 YD3800-23013 Mpy*KMHA HaXKMMHaA Py4YKM TOPMO3a 1 29 GC305-91328 BuHT 4,2x16 2
14 YD25002-27301 KpbIWKa WuHbl 1 30 YD2500-91323 BuHT 4,2x18 1
15 YD2500-22201 LLlecTepHA HaTAXEHUA Lenn 1 31 YD2500-92102 [aiKa KpbILWKK WKHbI M8x1,25 2
16 YD2500-22211 BUHT HaTAXeHMA uenm 1 32




